LGBK
SR (R ) BUE
TR

] sheregRt

B mm

o PIRE=HERN

- ——n

o HRR=ZBRERER

SortnEs
]
Nt |
ZEFBREREFURAS, CHSZATHE 11
. g, Fl. L BHETLORENE ST 1
B4R MRS, =iy Z 7 NI
L
[ ] #8
FLEH S 1Cr18Ni9T AR AR
FeFERM L 20 SR
EEHH 20 B
[ s&amE
e FRE= B mm
AHRER TRETIHEENNEXTEES LHEE Py2.6MPa TEEZ
oy 200°C LT 250°C LA 300°C L F Dy Ds D, L ®oH
Ps P Py Pue (40) 10 | 10 | 117 4-M16 X170
MPa 50 165 | 125 | 121 4-M16X170
0.25 0.25 0.23 0.2 65 185 145 | 12t 8-M16 % 170
0.6 0.6 0.55 0.5 80 195 | 160 | 125 §-M16% 170
1 1 0.92 0.82 100 230 | 190 | 131 8-M20 X 180
1.6 16 L5 1.3 125 270 | 220 | 135 §-M22 X 200
2.5 2.5 2.3 2 150 300 | 250 | 135 §-M22 X 200
175 330 | 280 | 139 12-M22 X 200
200 360 | 310 | 139 12-M27 X 200
295 395 | 340 | 143 12-M27 X 200
e FEE= 250 425 | 370 | 143 12-M27 X 200
NRETIEE C HOEALIEES 300 485 | 430 | 150 16-M27 % 220
BRI 00C [ 200°C | 300°C | 350°C | 400°C | 425 | 450°C 350 550 | 490 | 164 16-M30 % 240
e S T e e e e 400 610 | 550 | 168 16-M30 X 240
NT;Y Pw | Pu | Pw | Pu | P | Pu | Pu
MPa

2.5 2.5 2.3 2.0 1.8 1.6 14 1.1
4.0 4.0 3.7 3.3 3.0 2.8 2.3 1.8

6.4 6.4 5.9 5.2 4.7 4.1 3.7 2.9




o XIRE= =X —
LHER Py2.5MPa Py4MPa Py8.4MPa

Dy D, D, L g = D, D, L woo= D, D, L L S
(409 150 | 110 | 165 | 4-M16x170 | 150 | 110 | 169 | 4-M16x170 | 165 | 125 | 209 | 4-M20x180
50 165 | 125 | 169 | 4-M16x170 | 165 | 125 | 169 | 4-M16x170 | 175 | 135 | 213 | 4-M20x180
65 185 | 145 | 177 | 8-M16x170 | 185 | 145 | 177 | 8-M16x170 | 200 | 160 | 223 | 8-M20x180
80 195 | 160 | 183 | 8-M16x170 | 195 | 160 | 189 | 8-M16x170 | 210 | 170 | 223 | 8-M20XI80
100 230 | 190 | 199 | 8-M20x180 | 230 | 180 | 211 | 8-M20x180 | 250 | 200 | 235 | 8-M22x200
125 70 | 220 | 211 | 8-M22x200 | 270 | 220 | 211 | 8-M322x200 | 205 | 240 | 271 | §M27x220
150 300 | 250 | 219 | 8-M22x200 | 300 | 250 | 219 | 8-M22x200 | 340 | 280 | 295 | 8-M30X240
176 330 | 280 | 225 |12-M22x200 | 350 | 205 | 251 | 12-M27x220| 370 | 310 | 205 | 12-M30x 240
200 360 | 310 | 235 |12-M27x200 | 375 | 320 | 251 |12-M27x220] 405 | 345 | 307 | 12-M30x240
225 395 | 340 | 235 | 18-M27x200 | 415 | 355 | 271 | 12-M30x240 | 430 | 370 | 315 | 12-M30x 240
250 425 | 370 | 245 | 12-M27x200 | 445 | 386 | 279 | 16-M30x240 | 470 | 400 | 319 | 16-M36x 300
300 485 | 430 | 262 | 16-M27x220 | 510 | 450 | 310 | 16-M30x240 | 530 | 460 | 349 | 16-M36x300
as50 550 | 490 | 276 | 16-M30x240 | 57¢ | 510 | 320 | 16-M30x260 | 595 | 525 | 388 | 16-M36x300
400 610 | 550 | 310 | 16-M30x240 | 655 | 585 | 364 | 16-M36x300 | 670 | 585 | 420 | 16-M42x300

[] &#amikF B

HHABEEE SEFHME AT EHSRR AT A
A.B . C .

R SR RS SR rEFLAR AR, R 1 A B 5. 0
BT 3 7 T 445 440 P T 5

AR AL JE 3, FLARES, WIAR PRk 22 brdfE e A B X
B AL C R

P BT« QRIS Al T AL IS AR HEE AL
A

L H HIEITH]
|

FeIETRER
RS B & FEmEH HEGEZHTE
EFEEN

1 PIRTWEZ JB81-59, H35010-58 -
z | BHRTEEZ JB&2-50 Py<235 )

DGOT46, DGOTES
3 WAOTHE=

DGO7T67

A

DG0731. DGO736
4 T AR =

DGO741. DGOT51
& — =Yk | HG5012-58

JB82-59 Py4 Py6.4 (ofiv)
[ -y REEEE

HGA/016-58

« A BERHIHE

Mik Ak 2404 JBR1-59 Py2.5
[EY B e R R AL AR I, B B sk fm

Dy&50, i

119?4‘{ 50(¢>57><5.5H5| ‘ |$r|rz

35~38

cH




